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QUIZ 16 – Database
1. An organisation uses a database to store data about the types of bird that people have seen. 
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(b) The database, Birds, stores information about the types of bird and the people who have

seen them.

Data about each bird seen is stored with its location and data about the person who saw the

bird.

Database Birds has the following tables:

BIRD TYPE (BirdID, Name, Size)

BIRD SEEN(SeenID, BirdID, Date, Location, PersonlID)

PERSON (PersonID, FirstName,

LastName,

EmailAddress)

(i) Complete the table by identifying two foreign keys and the database table where each is

found.

Foreign key

Database table
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(ii) The database Birds has been normalised.

Draw one line from each Normal Form to the most appropriate definition.

Normal Form Definition
First Normal Form (1NF) All fields are fully dependent on the primary key.
Second Normal Form (2NF) There are no repeating groups of attributes.

Third Normal Form (3NF) There are no partial dependencies.
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(c) The car rental database is not normalised. The current database design is:

BOOKING (CarRegistration, StartDate, EndDate,
CarModel, CarColour, CustomerFirstName)

CUSTOMER (CustomerFirstName, CustomerLastName, EmailAddress,
TelephoneNumber)

Write a normalised database design for this database.
All tables must be in Third Normal Form (3NF).

Use the field names given and underline the primary key fields.
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